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Please check that this question paper contains 27 printed pages.
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Please check that this question paper contains 38 questions.
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Q.P. Code given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

(iv) HUAT I HT I ToT@AT IJ[E FH H Uged, IWR-GIedshl H IIT T HHATH AT
fora |
Please write down the serial number of the question in the answer-book before
attempting it.
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15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 am. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this

period.
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(i) SAYHE-UAH 38T 8 | Ut 97 AT & |
(i) I8 Y99-99 UTa @Sl 4 [q41fSid 8 — &, @, T, TG & |
(iii) @IS H H Y91 G&ql 1 9 18 aF Sgidshedid (MCQ) AT F94 &1 19 TF 20 3HFHIH T
aeh STENRA 1 37 & I8 |
(iv) TUSE HYH G&I1 21 § 25 T 31 TH-ITIF (VSA) ThR % 2 Al h JH 8 |
(v) @USITH Y GEIT 26 9 31 TF T9-399 (SA) THR % 3 37l & THE |
(vi) TUSHH YT &1 32T 35 TF a1H-3709 (LA) TPR & 5 3F1 & I3 8 |
(vii) TUE T T Jv7 G&IT 36 T 38 dF JFUT 37T A 4 37hl & I3 8 | Ied&h JF
37T H TN fdeheq 2 37kl & Yy H RIT AT |
(viii) F¥9-99 4 GHY [9hcq 78] /AT 718 | JeIiU, @8 @ H 2 G941 4, @US T 2 G 4, @IS H
& 2 Y91 7 dY1@US T & 3 J¥91 H HIdRe fasheq &1 J1a9H a1 a1 & |
(ix)  TEl ST & e Sl T | Tl AT & - = Ao, Il 3w 7 o
T & |
(x)  FoFAN YA FNIAE |
QU &
$4 T H Fglashedid 599 (MCQ) 8, TS Jcdeh 594 | 3 FI & | 20x1=20
1. Ffex=5 feamdadem2x2+ (k- 1)x+10=0HRTHEAR, ATk FTAAE :
(A) 11 B) —11
(C) 13 (D) —13
2 aﬂdlrl-loh?ﬁ?ﬁm3ﬂ'{n?ﬁm=p5q2Wn=p3q4,aﬁp3ﬂIqWﬁ@l&%,
ST e (AT T8 | m AR nHTLCM B -
(A)  p3qb B) pq?
© pqt D) p°q?+pqt
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(1i)
(ii1)
(iv)
(v)
(vi)
(vii)

(Viii)

(ix)
(x)

This section comprises Multiple Choice Questions (MCQs) of I mark each.

L.

30/5/1

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.

In Section A, Questions no. 1 to 18 are multiple choice questions (MCQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

In Section B, Questions no. 21 to 25 are very short answer (VSA) type questions,
carrying 2 marks each.

In Section C, Questions no. 26 to 31 are short answer (SA) type questions,
carrying 3 marks each.

In Section D, Questions no. 32 to 35 are long answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case study.

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and

3 questions in Section E. ”
Draw neat diagrams wherever required. Take m = — wherever required, if not

stated. /
Use of calculator is not allowed.

SECTION A

If x = 5 1s a solution of the quadratic equation 2x2 + (k — 1)x + 10 = 0, then the
value of k 1s :

(A) 11 (B) —11

(C) 13 (D) -13

Two positive integers m and n are expressed as m = qu2 and n = p3q4, where p

and q are prime numbers. The LCM ofmandn s :
(A)  pSq® B) p’q?
© pq (D)  p°q®+pq*

20x1=20
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GHISHOT I x = 2a 3R y = 3b (a, b = 0) T AT 59 LT W37l =l (&iUd FLd1 7, o
(A) Ul g (B) EHIW?
(C)  (2a, 3b) W Ifd=eel 8 (D)  (3b, 2a) W Tfd=eel B
qfe k+7,2k—2 IR 2k+6 THAP. FdAFANAUS S, ATK FTHAN T :
(A) 15 B) 17
(C) 3 (D) 1

&t 7TE 3TTRId H, % O ITcl T 99 W PA 3R PB 3l TIRI-@TC T T8 & 3T 0 i
BT 5sem 13 L APB=60°%, AT PAHI @S 2 :

(A) % cm (B) 5 \/E cm
(C) \lﬁ cm (D) 10cm
3

&1 715 3ATRId |, Ffe A OPS T 9SIT3AT OP 3T OS W 3hAsT: forg M 37 N 36 Tl
AT FMN | PST, AT OP I @ie5 & :

(A) 6.8cm (B) 17cm
(C) 15.3 cm (D) 9.6cm
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All queens, jacks and aces are removed from a pack of 52 playing cards. The

remaining cards are well-shuffled and one card 1s picked up at random from it.

The probability of that card to be a king 1s :

A 10 B 13
3 3
© 1 ) 7

PQ 1s a diameter of a circle with centre O(2, — 4). If the coordinates of the pomt P

are (— 4, 5), then the coordinates of the point Q will be :

(A) (—3,4)5) (B) (—1,0.5)
L) @,=95) D) (3,-13)
4 \
The value of siﬂ2 0 + l > 1S :
N | + tan 9/
(A) O (B) 2
) 1 (D) -1

A cap 1s cylindrical in shape, surmounted by a conical top. If the volume of the

cylindrical part 1s equal to that of the conical part, then the ratio of the height of

the cylindrical part to the height of the conical part 1s :
(A) 1:2 (B) 1:3
© 2:1 (D) 3:1

The 7™ term from the end of the A.P. : — 8,—5,—-2,..,491s:
(A) 67 (B) 13
© 31 (D) 10
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T GHAqHS ABCD o forshol foig O o wfdeesal & | fog <O” o1 oz o, B3 6 em

&1 T I1T OA TAT OD Hl SHHIT: %gaﬁ E 37X F W Fedl g | B=a@e OFEF T &%
?:
(A) 91 cm? (B)  3mcm?

(C) 121 cm? (D) 187 cm?

600 JTTFHHIHT o THE H H Toh dlhole Foial Tl STgHshIH o fHehTe i JTRIehdT
0.055 8 | 38 THE | Tlehcie Tefal aTelt STEHshIAT oh! HEAT & ;

(A) 33 (B) 55

(C) 11 (D) 44

I tan2 0+ cot? o0 =2 %,EI%T” 0 =45° 3 0° <a<90° %,fl‘h CHRTHAE :

(A)  30° (B)  45°
(C) 60° (D)  90°

x-3781 %1 a7% foig, St feigal (5, - 3) 37 (4, 2) § THEAM AW R, 8 -

(A) (45,0) B) (7,0)

(C) (0.5, 0) (D) (7,0

IS ek o 3T Uk 1Y, ST 38 g T 60° T IV Fdld FHLdT &, 3l @S 22 cm ®, ar
I &1 B 2

(A) 21cm (B) 2lcm

(©) 42 cm (D) 42cm

=t sk @ it i g ST i e, @ A S /3 TR, A g A SR

(A) 30° (B) 45°

(©) 60° (D) 90°
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The diagonals of a rhombus ABCD intersect at O. Taking ‘O’ as the centre, an arc

of radius 6 cm 1s drawn intersecting OA and OD at E and F respectively. The area
of the sector OEF 1s :

(A) 9m cm? (B) 3m cm?
(C) 12m cm? (D) 187 cm?

The probability of getting a chocolate flavoured ice cream at random, in a lot of

600 1ce creams 1s 0.055. The number of chocolate flavoured ice creams in the lot
1S :

(A) 33 (B) 55

(C) 11 (D) 44

If tanZ 0 + cot? o = 2, where 6 =45° and 0° <a<90°, then the value of ot 1s :
(A) 30° (B) 45°

(€)  60° (D)  90°

The point on x-axis which is equidistant from the points (5, —3) and (4, 2) 1s :
(A)  (4.5,0) B) (7,0)

©) (05,0 D) 7,0

If the length of an arc of a circle subtending an angle 60° at its centre 1s 22 cm,

then the radius of the circle 1s :

(A) ~/21cm (B) 21cm
(C) ~42cm D) 42cm

If the length of the shadow on the ground of a pole i1s \/E times the height of the

pole, then the angle of elevation of the Sun 1s :
(A) 30° (B) 45°
(C) 60° (D) 90°

< Page 9 > P.T.0.
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18. I U ohl Teh AT IBTAT AT TAT 37 T 3T GEATHI 3T VAEA Al AT 7T | FET
TET 9T 373 HEATHI o1 TS 8 31T 13 o sff= 8 ol TTRIedT e :

v D
A 3 B)

© ® 5

937 &1 19 3R 20 YFHYT TF a% 4R I3 & | 31 99 o€ 7T & o747 T
HIHFY (4) AT GHL 1 T (R) R 3febd 141 741 € | $79 991 % Hel S 1< 15 7T i<l
(4), (B), (C) 3R (D) H § THH FI1o1T |

(A) ANHAT (A) 3R T (R) AT @I & AR @ (R), IANHIT (A) i &l AT
FLATE |

(B)  HIWHIA (A) AR d (R) IHI W&l &, 9d doh (R), 3MWHH (A) 3l E=&l A
&l FAT R |

(C)  Afveher (A) @l 8, 9t deh (R) TTid @ |

(D)  3T9EFYE (A) Tad &, g o (R) T8 |
19.  S%FHIT (4) : G TF T8US I U1 x-3& o hael al (61§31 W Nfcreesfed HLaT g,

T SIGIG o YA ol HEAT2 7 |
o ™ ™

% (R) - Ueh STEUE o [eh oh! AT 3 {sIgT shi HeAT o SR il @ 5
T SIEUE T AT x-37& %l Tfdesiad ¢ |

20.  HIWHYH (4) . S foig T & g <O’ ol I W @il 7% a1 Tqvi-@nd TA 37 TB
g 13afe Z TBA =75°%,dl £ ABO = 25° Tl |

A
T
5,9
B
a (R) - o o ferdll foig o @i=il 75 Tovi-@n a9t foig ° ST aredt fHear €@
RERGIES

30/5/1 < Page 10 >
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18.  Two dice are thrown at the same time and the product of the numbers appearing

on them is noted. The probability that the product of the numbers lies between

8and 13 1s:
7 5
A — B -
2 |
S D S
© 3 ®)

Questions number 19 and 20 are Assertion and Reason based questions. Two statements

are given, one labelled as Assertion (A) and the other is labelled as Reason (R). Select
the correct answer to these questions from the codes (4), (B), (C) and (D) as given below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) 1s the correct
explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is mnot the

correct explanation of the Assertion (A).
(C)  Assertion (A) 1s true, but Reason (R) 1s false.
(D)  Assertion (A) is false, but Reason (R) is true.

19.  Assertion (A) . If the graph of a polynomial intersects the x-axis at exactly two

pomts, then the number of zeroes of that polynomial 1s 2.

Reason (R) :  The number of zeroes of a polynomial 1s equal to the number of

points where the graph of the polynomial intersects x-axis.

20.  Assertion (A) . TA and TB are two tangents drawn from an external point T to a
circle with centre ‘O’. If £ TBA = 75° then £ ABO = 25°.

A
T
5.3
B
Reason (R) :  The tangent drawn at any point of a circle 1s perpendicular to the

radius through the point of contact.

30/5/1 < Page 11 > BiT.0
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$4 TS H HId TH-IWRIF (VSA) YR & Fo4 8, IS8 Todoh o 2 i+ 3 | 5%2=10

21.  PQRS U gcd & 59 PQ || SR 2 | Ifd EHA ST PS 37 QR YT 3hHHT:
foig M 3R N 38 yohr frd € fo6 9T MN, 97T PQ o ®WidW &, df awisy foh

PM _ QN
MS NR°
P > \Q
M = N
S > R

22. fagFifu e 7-3./5 & suig e e, e i /5 & st der @ |

23.  (a) 14 cm <A aret U o9 Y i ST g T 90° T FHI7 Al wdt ® | G

T JAEUS T &AHA HTd hiToTC |

HAAAT

(b)  3TTeRfd H STATTRd & T &A% JTd ShITSTT, IfS Tedkeh I sl BT 7 cm © 37K
T &1 31T I ohl oiTel ©9 Y TI37 LT o |

i
ACAen

30/5/1
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SECTION B

This section comprises Very Short Answer (VSA) type questions of 2 marks each. IX2=10

21. PQRSis a trapezium with PQ || SR. If M and N are two points on the non-parallel
sides PS and QR respectively, such that MN 1s parallel to PQ, then show that

PM _ QN
MS NR°
P > \Q
M > N
S > R

22, Prove that 7 — 3\/5 1s an 1irrational number, given that \E 1S an 1rrational

number.

23. (a) A chord is subtending an angle of 90° at the centre of a circle of radius

14 cm. Find the area of the corresponding minor segment of the circle.

OR

(b)  Find the area of the shaded region if length of radius of each circle 1s 7 cm.

Each circle touches the other two externally.

30/5/1 D.T.0.
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24. &7 ITHid H, foig3 A SR B WA PAQ 3R PBR %% ‘O’ At fordlt o qw &t

TRl § | fe o9 W feg T30 9 8 fF £ QAT = 45° 1 £ TBR = 65°, dl
Z ATB Jd =TT |

.

2. SE0< A+B<90°®. @

25. (a) Elﬁ’cos(A—l—B):%aﬂItan(A_B):

53
sec (2A — 3B) &1 9 JTd shifST |
HAAT
(b)  x o H J1d shifse fSireh fofu
3 tan? 60° — x sin? 45° + % sec2 30° =2 cosec? 30°
Yus 17
$H TUE H oTH-IT1T (SA) TR % Y94 8, IS8 Tdeh o 3 36 8 | 6X3=18

26. U I GHSAT o IUTA TR F 100 ATHTT shT ST | ITehT g 1 AN 1 Aot
H Fiferd foRaT 7T 9T | Seh! AL ST T i1 |

AT (ST H) | ST T SRt ot T
10 -20 9
20 -30 14
30-40 15
40 - 50 21
50 -60 23
60 — 70 12
70 — 80 6

30/5/1 < Page 14 >
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24.  In the given figure, PAQ and PBR are tangents to the circle with centre ‘O’ at the

points A and B respectively. If T 1s a point on the circle such that £ QAT = 45°
and £ TBR = 65°, then find £ ATB.

25. (a) If cos(A+B)= . and tan (A — B) = L where 0 < A + B <90°, then
‘ V3
find the value of sec (2A — 3B).
OR

(b) Find the value of x such that,

3 tan2 60° — x sin2 45° + % sec2 30° =2 cosec? 30°

SECTION C

This section comprises Short Answer (SA) type questions of 3 marks each. 6x3=18

26. The government rescued 100 people after a train accident. Their ages were

recorded in the following table. Find their mean age.

Age (1n years)[Number of people rescued
10 -20 9
20 -30 14
30—-40 15
40 — 50 Z1
50 —60 23
60 — 70 12
70 — 80 6

30/5/1 < Page 15 > P.T.O.
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27. g ST o
( % ) 2
I+tan” A | (I-tanA)
\T_+cot2 A/ (1—-cot A)2

28. (a) 9M< U I o RO Uk WS PQRSTU @i 7 &, i fag Sifse ik

PQ+RS+TU=QR + ST+ UP
areraT

(b) & TS ARG H, ﬁw3cm3ﬂTﬁ_ﬂT50m%fﬁWdHQ4%lk¢ﬁﬂa
forg T § 31 gl W a1 TRi-@¢ TR 3R TP 36 YR @it T 8 %
TRaTl?lﬁ?m"ciﬂqn fofg R WX ¥l 3l 8, a1 TP &ITedl a ol foig P q¥ ¥

FAT 2 1A TR = 4~/10 cm 2, @ TP &I aTs 31 iU |

P

29. I f3ETd 9IgUe H1d ITSIC fSreh Y=Iehl sl AMTHS § TAT A 27 |

L=

‘."

30. (a) U 2-37ehIT AT o 3ol &l AMTHS 12 § | 6 HEAT 1 7 THT, TEAT 6 37ehi

qefed | ST AT % 4 TH o 99 & | §E&AT J1d hiToIT |
AT

(b) =1 (g GHIHT o W H x 3 y o A JTd hI9Y :

62x + 43y = 167

3,

43x + 62y = 148

30/5/1 < Page 16>
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7. Prove that :

[ \

l+tan” A | (1-tanA)’

\1+cot2 A/ (1—c-::ttA)2

28. (a) If a hexagon PQRSTU circumscribes a circle, prove that,

PQ + RS + TU = QR + ST + UP
OR

(b)  In the given figure, two concentric circles have radii 3 cm and 5 cm. Two
tangents TR and TP are drawn to the circles from an external point T such
that TR touches the inner circle at R and TP touches the outer circle at P. If

TR =4+/10 cm, then find the length of TP.

P

29.  Find a quadratic polynomial whose sum of the zeroes 1s 8 and difference of the

zeroes 18 2.

30. (a) The sum of the digits of a 2-digit number 1s 12. Seven times the number is
equal to four times the number obtained by reversing the order of the

digits. Find the number.
OR

(b)  Find the values of x and y from the following pair of linear equations :
62x +43y =167
43x + 62y = 148

30/5/1 < Page 17 > BiT.0
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31. U O SRR § AT @ o foT¢ Uah Thet | 42 TTTUId o 1R187eh, 56 Sl o R1emeh
3R 70 T fagm o frerent =61 1miEa fomam | afe Tedes s W e aret fverent i
TIT A & 3T Jcdeh HST UL Ush & [ o {3187TeRT ol SIaAT &, dl shH-H-hH fohd-1
HSIT shl STETIhdT BRI, ATd hifST |

LCLERO]

39 GUS 4 315-39 (LA) TFR & 97 &, 151 Ik o 5 3 & | 4X5=20

32. @ T A H, MNOP T&F EHIR 9d4sl & 3R AB | MP ¢ | fag ST
QC || PO.

A

B 0 C

33. U scifeh o ST STTER HI&H AN ol ST 3 §ROM # 3ifeRd & | |18 AR shl el
HE&AT 100 & 371 I7eh! ATeAeh 31T 41.5 99 © | 31 §HE! o AN shl AT A & IS
Rt | x 3R y ¥ fA&fua R mar g | x 3y o 9H J1d Shifeie

I (NI ) | | AR Y G

10 —20 15
20 - 30 X
30 —-40 12
40 — 50 20
50 — 60

60 — 70 8
70 — 80 10
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31. A school has invited 42 Mathematics teachers, 56 Physics teachers and

70 Chemistry teachers to attend a Science workshop. Find the minimum number

of tables required, if the same number of teachers are to sit at a table and each

table 1s occupied by teachers of the same subject.
SECTION D

This section comprises Long Answer (LA) type questions of 5 marks each. 4X5=20

32. In the given figure, MNOP is a parallelogram and AB || MP. Prove that QC || PO.

A

M N

B 0 S

33. An age-wise list of number of literate people in a block 1s prepared in the

following table. There are total 100 people and their median age 1s 41.5 years.

Information about two groups are missing, which are denoted by x and y. Find the

value of x and y.
Age (1n years) | Number of literate people

10 —20 15

20 — 30 X

30—-40 12

40 — 50 20

50 — 60

60 — 70 8

70 — 80 10

30/5/1 < Page 19 > P.T.O.
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34. (a) 3fe Y 19+t andfass 3W T 7 99 SIS BIdl, A1 3ThH! 3H (T H) T a7 3Th!
JrETaIeh 37 o 5 AT H 1 37Tk BidT | 36ehl ATEdfash 35 F:T2 ?
HAAAT
(b) T IHMIRE 1,800 H F& oo Giad & | Al I8 et TRT A 15 Jeaeh HAferh
G{iedT, a1 34 Tcsh T&deh T 20 A shi dl | J1d shiioY foh I8 et feha
qEdeh T | TieT o |
35. (a) {ST21 cm ITd Tehel o Uk BHTShR sciieh H S8-H-SIST Ueh LTI @IS L 39
T TehTar SITdT @ foF STl &7 TR, 9HThRR scieh T Ush oAk & | JTd
CAIS 1o
(i)  scTeh H Sl SThel ohT STTICH,
(i) = 319 I FHeT TS SAR |
AHAAAT
(b) T 3 AT Uk TF-gii Y1k o TR M 7, ST Teh STERTICT UK TR
& | Yk skl Forsam <1 Seehl fodeh e § 31uTd 3 ¢ 5 © | Afe RaciH 1 AR
240m cm? &, A1 RaciH it Fat HaTg J1d hIfST |
Tis &
$H GUS H 3 YH{UT 3769FH ST T34 8 o778 Tcdh & 4 3IF 8 | 3x4=]2

ThI0T 3Feqgq — 1

36.  YifC Aihe o HRUT, = B HFIad H I A TS & | & ARG X a1 Y 967 &9
THITed &% @ | Gehct shl ST T 715 & 3R 36 IHT SHRAT o sitel o1 [oRaT 4T & |

ke shi TS o HTHA U feig O W Ueh it o STl @ |

30/5/1
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34. (a) [f Nidh1 were 7 years younger than what she actually is, then the square of
her age (in years) would be 1 more than 5 times her actual age. What 1s her
present age ?
OR
(b) A shopkeeper buys a number of books for ¥ 1,800. If he had bought
15 more books for the same amount, then each book would have cost him
¥ 20 less. Find how many books he bought initially.
35. (a) The largest possible hemisphere 1s drilled out from a wooden cubical block
of side 21 cm such that the base of the hemisphere 1s on one of the faces of
the cube. Find :
(1) the volume of wood left in the block,
(11)  the total surface area of the remaining solid.
OR
(b) A solid toy i1s in the form of a hemisphere surmounted by a right circular
cone. Ratio of the radius of the cone to its slant height 1s 3 : 5. If the
volume of the toy is 2407 cm3, then find the total height of the toy.
SECTION E
This section comprises 3 case study based questions of 4 marks each. IX4=12
Case Study — 1
36. Due to short circuit, a fire has broken out in New Home Complex. Two buildings,
namely X and Y have mainly been affected. The fire engine has arrived and it has
been stationed at a point which is in between the two buildings. A ladder at point
O is fixed in front of the fire engine.
30/5/1 < Page 2 1> P.T.0.
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The ladder inclined at an angle 60° to the horizontal is leaning against the wall of

the terrace (top) of the building Y. The foot of the ladder 1s kept fixed and after

some time it 1s made to lean against the terrace (top) of the opposite building X at

an angle of 45° with the ground. Both the buildings along with the foot of the

ladder, fixed at ‘O’ are 1n a straight line.

R P
A
12./3 m
45° 60°
v

C O A

(Building X) (Building Y)

Based on the above given information, answer the following questions :

(1) Find the length of the ladder.

(11)  Find the distance of the building Y from point ‘O°’, 1.e. OA.

(in) (a) Find the horizontal distance between the two buildings.

OR

(b) Find the height of the building X.

< Page 23>
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Case Study — 2

37. A school has decided to plant some endangered trees on 515t World Environment

Day in the nearest park. They have decided to plant those trees in few concentric
circular rows such that each succeeding row has 20 more trees than the previous

one. The first circular row has 50 trees.

Based on the above given information, answer the following questions :

(1) How many trees will be planted in the 10th row ? 1

(ii)  How many more trees will be planted in the 8th row than in the 5th row ? 1

(i) (a) If 3200 trees are to be planted in the park, then how many rows are
required ? 2

OR

(b) If 3200 trees are to be planted in the park, then how many trees are
still left to be planted after the 11th row ? 2

30/5/1 < Page 25 > P.T.O.



https://v3.camscanner.com/user/download

38.

30/5/1

ol

[=].cd
TR 0T 3TeTYH — 3

g7, Ueh G SSHIT, 3794 h1H o (bl § JEIAH H &dT & | I8 I8 & g9

GiaeTSiHe &5 H T8dT © S8l ¥ sieh, ITEIATe, STeher 3 YL HIehe deh M1 § U8
wlﬂmdl%lmﬁ é?m“aﬁA(E) 5) & &9 |, AT ‘cl?rB(—3 —l)ﬁah‘ﬂrﬁww

qTehe &l C(5, — 5) h &9

Y 39 TR QAT T2 fh A, B, C T BN ST & |

39 &1 TS SRR o ITUR W, Hefetiad Je1 o 3t ﬁﬁlQ

(i) a‘q??:ﬁtawqdlm mﬁ??ﬁ&ﬁﬂﬁ?ﬁﬁl@l

(i) ik 3R YU Aok o S, Tk SToheR E o ®9 H G2014T1 ™1 8 il {6 34 SH1 6

=1 T HEAL- forg e | E%ﬁ%ﬂﬁﬁﬁ?ﬁﬁml

(i)  (a) 3++qdmaﬂtwmoh¢oha'\%r Ueh o To€ & N D o &9 H 9041 7

%,Eﬁ‘&[f{

3 % g Wﬁa%lﬂﬁqﬁaﬁﬂw e SIHT dred

g1, a1 39

fepa-i1 g1 o T oY ST BT 9
HAAT

(b) s IR IFUATA * st af fofs= F@I H g P 3N Q €, &l
BP PQ = QA%W%PaﬂIQ%ﬁ%mwm (1,a) T (b, 3) B, T

a’ 3 b’

o | T hiTT |
<Page 26>



https://v3.camscanner.com/user/download

38.

30/5/1

ol

[EH
Case Study -3

Partha, a software engineer, lives in Jerusalem for his work. He lives in the most
convenient area of the city from where bank, hospital, post office and
supermarket can be easily accessed. In the graph, the bank is plotted as A(9, 5),
hospital as B(— 3, — 1) and supermarket as C(5, — 5) such that A, B, C form a

triangle. |
BANKS».

-

T o i i -ﬂwr.--i.a. IH'“-‘?
. -"‘-'-;.-..-..'a: ; ."',

—i e

- -

.

(9,5)

HOSPITAL
el B
HHH

HHd
- xL | D

WSl +

(1) Find the distance between the bank and the hospital.
(11)  In between the bank and the supermarket, there 1s a post office plotted at E
which 1s their mid-point. Find the coordinates of E.

(1m) (a) In between the hospital and the supermarket, there 1s a bus stop
plotted as D, which 1s their mid-point. If Partha wants to reach the
bus stand from the bank, then how much distance does he need to
cover ?

OR

(b) P and Q are two different garment shops lying between the bank and
the hospital, such that BP = PQ = QA. If the coordinates of P and Q
are (1, a) and (b, 3) respectively, then find the values of ‘a’ and ‘b’.
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